PART - (;EIziii F aﬁfgfﬁﬁ ﬁ?,’Fi‘a’ﬁT'%)

COMPUTER sC o™
51. Which datatype is mostly returned by 51' gﬂ' ﬁ @Z‘ﬁﬂgq
fetchall() method in Python—M sQL i
-c;rrﬂﬁflﬂ |
connectivity ? %];W Fdt ol <1
Select the most common answer: 2 ;ﬂ'"gle 1ist aﬂ—g‘e S
1 5" qa 7 I
EHI single list o an empty Jist, if n° more & 31“]‘(%(‘” Jist, 3T 3
QWS are available: 20 stof B ples 71 an enpty 77
et 2 I
A list of tuples Of an empty List, if 0 ( 3 oW 3‘76?1 A
more TOWS are available ' | ) A list of dJctionarie zr% eImPtY
@) Alistof gictionaries OF &% empty list & o A Ao
ilable- le, 3T
p o £t if (4) A single tuples 71 an empty P <
(4) A single tuples or an empty tuple, I aﬁ'ﬁ afT oW Sﬁa] % @l
more TOWS ar€ available
. S
E?ﬂ"la / X
ol XML 1shd=EE dt BiFend 1,52 XML%@WW@ 3 e T RS
Jata. Sel ¢ the best pair of & fert % FIIL
S a o T <
wers from the following options
) et
(1) design ransport ()
() store design (2) RS :
(3) store fransport (3) o g
gy fomat, 45" @ e, T
53, Which type of cable has high pandwidth | 53. forg TR co F Sefagd e Bt A
supports high data transfer raté, signals ca'n R EARR © & s Tl T g T
travel longer distances and electromagnetic L EAURED S & 3T IgH! sﬁ@ﬁ'm w7f
01e f‘::_u; affi;e ﬂ;;f:ble howev.er e =) yyfad T Fd .%’ qenfa @ e K
e, Identify mission media. 2 % Hfea # TEaH AR
(1) Cdaxial Cable
o |
(2) O%l Fiber
(3) Tvﬁeid Pair Cable
(4) Cdtg.Cable

22 I
C



gelect the correct full form of the term 1 54. = feu 7o faeredi § § ARPANET U 1 62
54 ARPANET from the given options. T A S |
) American Research Projects Advance (1) American Research Projects Advance
Network Network

@) American Research Programs Advance (2) American Research Programs Advance
Network

Network

©) Advanced Research Programs (3) Advanced Research  Programs
Academic Network Academic Network
\@/ Advanced Research Projects Agency (4) Advanced Research Projects Agency
Network Network

5. 1dentify the communication protocol which
establishes a dedicated and direct connection
petween two communicating devices. This

ptotocol defines how two devices will A € T A <Al fead 8 TR o @ =
authenticate each other and establish a direct

FAfTHe HEN AN ST THES FH F Taw 1
Jink between them to exchange data. ar T s Tas et i
,\(y/PPP .

(1) W@ @ (PPP)

55. SH FETHIA TR ®i TEEH Hite N
Hegfeien feasy % 4= w efeFwes i
TSR HARE Td A €1 T8 N a8

(2) SMTP ) WA G (SMTP)
() TELNET (3) <@ (TELNET)
(4) FTP

(4) TH AW (FTP)

56, Choose the best option to fill the blank  56. iR = A T8 TR ¥ WA F o w6k

foweq =1 =ER St

i ~friendly text form TH 3R @ U (IP address) ¥
I ‘ W‘m (Human-friendly) IFZ TER €

(1) WA ¥ (domain name)
(2) T TZW (MAC address)
(3) THE TEH (Memory address)

(4) ¥ W T (URL)

23




57.

58.

59.

USi;n H
& join, wi;
qQuery jg alm <h of the follow:
SELECT St equivalent 4, ing MysoL
N X
RESULT E, MA RKS FROM STUDENT,

WHE
RESULT.ROLL, RE  STUDENT.ROLL=
(1) :

<

)

SEL
STUEET NAME, MARKS FROM
NT JoIiN RESULT:

S
SIE‘;ECT NAME, MARKS FROM
ENT EQUI JOIN RESULT;

:ELECT NAME, MARKS FROM
TUDENT NATURAL JOIN RESULT;

SELECT NAME, MARKS FROM
STUDENT, RESULT;

(4)

Identify the topology from the given options,
which is a hierarchical topology, in which
there are multiple branches and each branch
can have one or more basic topologies and
are usually connect multiple LANS.

@
\,(Zf Tree topology
(3) Star topology
(4)

Bus topology

Mesh topology

Identify the switching technique in which the
message is sent in one go, but it is divided
into smaller pieces, and they are sent
individually. The pieces are given a unique
number and addresses to identify their order

dl end.

24

57.

58.

59.

welig I
MySQL query ;
SELECT NAME, MARKS FROM STUDEN; :
RESULT WHERE STUDENT.ROLL

1dentify the term fron
which is a small file or
a website on the client

RESULT.ROLL; by the websites to store
of the user.
(1) SELECT NAME, MARKS FROM o o eall
STUDENT JOIN RESULT; e
(4) Trojan

STUDENT EQUI JOIN RESULT;

SELECT NAME, MARKS FROM
STUDENT NATURAL JOIN RESULT;

SELECT NAME, MARKS FROM
STUDENT, RESULT;

Which computet T
convert data fron
format suitable fo
medium 2 Select
given options.

@)

(4)

Modem
ﬁ%mmﬁmﬁﬁﬁmaﬁaﬁaﬁw @) switch
wHifere =i ueh feu=ehd (hierarchical) 2rarettsit (3) Repeater
3 fml TR wE SR TEE AE M TE A (4 b
wfirs s st € Fehdl § SR 98 SRR
R FedtTe LAN @ e B €1 ). GPRS is basica
(1) =9 W (Bus topology) ) 256 e
2) F 2rdwsh (Tree topology) 3G tech
(3) TR St (Star topology) (3) 4G tech
(4) A9 A (Mesh topology) (e iee

3. A school or

5 e e ) e oy fod g middle sch
¥ A9 WW%,%@@%-&@-&W National Pz
o ST R, S T orem-ore Aoy | 5 advisov
ﬁ@ﬁ@a@waﬂt@qﬁmm%m (1) obse
ST EH | (2) ot
ue

(1) & fafeT (Message Switching) @/zﬁs
(2) ¥ fafem (Packet Switching) ob
(3) T fefsin (Binary Switching) A p
1

(4) wfe fEfET (Circuit Switching) s\
Q2 YGT-CSC-2




63.

60.

61.

[dentify the term from the given options,
which is a small file or data packet, stored by
o website on the client's computer and used
by the websites to store browsing information

of the user.
) Firewall

\.(2‘)/ Cookies

(3) opywars
(4) Trojan

Which computer hardware device used to
convert data from a digital format into a
format suitable for an analog transmission

medium ? Select the best answer out of the

give options.
\,(4’]) Modem

Switch
Repeater
Hub

(2)
(3)
©)

GPRS is basically the standard-bearer of :

5G technology
3G technology
() 4G technology
(4) 2G technology

(1)

A school organizes an educational trip for
Jim Corbett

middle school students to the

be the teachers’

60.

61.

62.

63.

) fan g faed A ¥ 36 TR (term) H TR
Ffs, < T B e 7 T Y €, R T
JaTEe BN FAEE 6 FEOR W RN o T ®
ol Aeareet gra et W SR St
T R ¥ o T ¥

(1) wEEE (Firewall)

) Fs (Cookies)

(3) TEAA (Spyware)

(4) @ (Trojan)

foprg et ereaa feamsd 1 v O fefeea
itz A <@ T A FRERE Hiew %
o SR e # et % T R S g2
fo T fredl § @ WATeH ST H T HIC
(1) Hred (Modem)

) fa= (Switch)

(3) fidtet (Repeater)

(4) & (Hub)

qfEet &9 ¥ GPRS fHadl T A Fed
(standard-bearer) g7

(1) 2,55 @i (25G technology)

(2) 3t Ik (3G technology)

(3) 4Sft I (4G technology)

(4) 2 @A (2G technology)

T faene et e % B o fag W

Wu@ﬂm%mﬁaﬁﬁwmm

H ¢ m%ﬁmat—q‘f%‘fmmaﬂ

ARSI R ?

(1) oo i % IR A w P e
AT |

2) S e ) A S A S T

(3)

i 5
@ st i 5 o

Q2
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64.
:Fhe best method to teach
s ach the concept of the
(l)lmm on of a seed’ is to :
rovi ]
o zr de detailed explanations
aw pictures on the board and give
escriptions
(3¥" make students plant seeds and observe
germination
(4)

show pictures of seed growth

65. As per NEP 2020, from which class will

vocational education be introduced ?
(1) Class 7
\/(2‘{‘ Class 8
(3) Class 9
(4) Class 6

Which approach of learning out of the
following, engages participants in activity,
Jeads them to reflect on the activity critically
and obtain useful insight and learning ?

(1) Collaboration

(2) [Passive Jearning

(3) Observation

\w/ Experiential learning

66.

67. Which of the following components of pre-
service teacher education program has
greater scope for experiential learning ?

(1) Pedagogy courses through use of critical
thinking

Foundation courses through critical

ed on great thinkers’

school attachment

26

64.

65.

66.

67.

E————

s 5 ST F I i ?ﬁ‘t;
fafe T | 68. What is the full form
e T S 2020 ?
1) fored i s ' ) Assessment Bc
@) =g 9T fe AT LG w
: @) Academic Ba
3) ﬁ@mmﬁﬂm SFTT H {
foqa, el it 3) Academic Bz
(4) A # qfﬁ e (4) Assessment
T fas A, 2020 3 ST, ST
ﬂﬂgmmwﬁﬁaﬁam? oy, Ms. Monica war
() i /Nutrition’ to her
(2) el 8 (LJeuse chart
9 foods and
(3) 1 (2) give exan
*) 6 trients
ask the
ﬁﬂf@aﬁ@mmmﬂqma BoXES, S¢
Wﬁgﬁuﬁﬁﬁmﬁam% advanta
W@?ﬁﬂﬂwwﬁmﬁmi (4) draw !
%ﬁ?m@ﬂﬁaﬁa@sﬁ'{aﬁrﬂwm system
(1) e
(2) fafera s 70. As per N
e I} multidime:
% ; redesigned
G s 1) Cont
(2 360 -
qd-Fa AT fEn FREA ¥ HE | T (3) Com
Wm%mmm%? @) Tab
(1) ST fea & A 3 foan-1 71. What a
TSI H ! ‘Second
2) HEEATE YEE & I 3 & curricul
ISTHA M C
0 TSR R o :
HAT 3 ¢
: (
(4) T @ YeaR g J)’/
PGT-CSC-



68, Whatis the full form of ABC as per the NEP | 68. Wt finen ifd, 2020 % 3FFeR ABC 1 70 7

2020 ? D FNE?

(1) Assessment Book of Credits (1) THEHS IF A6 *fedH (Assessment
e Book of Credits)

(2) Academic Bank of Céttificates ) arhefirh d% 3Ah AEfRRH (Academic
(;.,ﬂ Bank of Certificates)

() Academic Bank of Crédit () wreis 4% % HTE2 (Academic
B’ Bank of Credit)

(4) Assessment Book of Géréificates (4) aTeEHe 9% S Hfiefthed (Asseasment

| Book of Certificates)

69. Ms. Monica wants to introduce the topic on | 69. firg Mt &1 - 3% B &Iy’ fovy 5%

‘Nutrition” to her class 3 students. She should : TR AT =t € | S= 1 LAl A1few ?

(1) use chart showing different kinds of (1) o yer & e iR 1% o <ol
foods and their advantages Il = 1 FAT T TMeC

2) give examples of different foods rich in (2) oo ¥ SR A= TR % 9N 3R

trients and their advantages % T 1 3T <A AT
\,(3'7/::1‘ the students to Epeﬁ their tiffin (3) BEH H 7o fefth s T, Suet gl

boxes, see the contentszand discuss their I TEA 91 IHh oY 3R THEH & T H
advantages and dlsadvantages =91 %A & T e =iy

(4) draw the diagram df:'the digestive (4) VMR (RHAIE) WA T3 i fom
system on the bIackbc%-‘d et

3

==
70. As per NEP 2020, stuc}ents holistic | 70. T faan +fifd, 2020 % SFTAR, T g

multidimensional progress card will be T e i e e H qH:TER s ?
redesigned in which of the following format ?

(1) Continuous progress card (1) Hdd Jid Fe

(2) 360 - degree progress card (2) 360 - ferit wifq %
(3) Comprehensive progress card (3) AT Wi TS

(4) Tabular progress card (4) fceEE wfd w1

are the classes which cover at | 71, TS foian =if, 2020 WewhH @@ ® R

stage accordlgzg to NEP 2020 ‘meafie’ B S wR i €2
ructure ? E\ ..:
7k (1) F&9H12
(o) (2) FM6HB
(1 (3) F&9H 10
(1) | (4) FW6HY
!

I 27 é




72

73.

\X{m

74.

75.

Which C y
Naﬁonalourse will be discontinued as per
Education Policy 2020 2

(1) ME4.
(2) M.Phil
(3) Ph.D.

4 -EdD

Which out of the following is considered as a
membership operator in Python ?

@ or
(3) mnot
@) s

Which string method, out of the following
into 3 parts in

will always break the string
Python ?

(1) break

partition

mid

split

@)
O

Out of the following expressions which one
will not find the result as X raised to the power |

28

73.

74.

75.

_-—-—

Afd, .
t@;mzmﬁm :ﬁﬁ‘? |;7‘; (;_c;ztiiﬁer the fol
(1) qqqg ; I‘M l L= [10, 20, 30,

(’f) | Which print states
2 EF L0 | e
) g 40 ! o, 10, 20 :
il Sl 1) print (LU
(4) - N print (L
- c\l ' 3) print (&
Wﬁﬁwﬂﬁmﬁwm @ print (&
T | 77 Which of the §
Y i of operators i
) Braces,
(2) or (2) not, Br
(3) not I,I = S
) i F_?: I (5)/ Braces
m B I. 8. Whatis the
e AL o o
ﬁﬁ,mf@ﬂmﬁﬁﬁﬁqﬁﬂ S e
F:l print (Bt
(1) break C\l : @ ¢ 03
(2) partition [l'
9/ L1
3) mid ;
() gns @) L
{
@
et & B T TSR XY A T
AT 2
< 79. What
1) pow(X, Y= plots
) )
(2) POWer(X{LR -
(®) mathpo) ) ®)
(4) X*xY E:I
N PGT-CS!
Qi



76. Consider the following assignment for | 76. e fae L% fag Frfafed sarEAHe W fomEr

a List L. ] wHifeg |

L=[10, 20, 30, 40, 50, 60] L= (10, 20, 30, 40, 50, 60]

Which print statement option will display the frefefiaa o @ 30 @ fie weie i fag g
content in the following way ? H3TIE Y TR ?

(60, 10, 20, 30, 40, 50] (60, 10, 20, 30, 40, 50]

(1) print (L[—1] +L[1:]) (1) print(L{—1]+L([1:])
print(L[—ll+L[=len(L)—1]) (2) print(L{—1]+L[:1len(L)—1])
3) print (L[len (L) —1] +L{1:len(L)]) (3) print(L(len(L)—1]+L[1l:len(L)])

(4) print (L[—11, L[1:]) (4) print(L{-1], L{1:])

77 Which of the following is correct precedence § 77. I 1 fr=fafaa ¥ | A 1 928 fufags

of operators in Python ? FR?
(1) Braces, or, and, not (1) Braces, or, and, not
(2) not, Braces, and, or (2) not, Braces, and, or
(3) not, Braces, or, and (3) not, Braces, or, and
4}/ Braces, not, and, or (4) Braces, not, and, or
78. What is the output of the following ? 78. frfafea 1 smeeqe #1182
| import numpy as np import numpy as np !
l A =np.array([[2,3],[10,20]]) A = np.array([[2,3],[10,20]])
print (A+1) print (A+1)
(1Y (T)li3 41
[10 20]] ' [10 2011
@/ s 4 2 13 4]
[11 21]] (AL 2118
@) 2aas (3)"*112 ..3]
[11 21]] [11 21]]
(8. LI3 o 3] 4 (13 3]

solor for Matplotlib | 79. Matplotlib plots %1 fewice Fer =1 €2

(1) Blue
(2) Green
(3) Black
(4) Red

29 Q2



80.

(1) stats
A2 statistics
(3) standard
(4) math
81. What will the following code result in ?
import numpy as np
A = np.array([12,23])
B = np.array ([10,20]1)
print (A-B)
(1) . [2 =31
() 11223
[10 2011
(3) [110 20]
[12 23]]
v(‘f{ [2 3]
82. Which of the following is false about global

Which
module j
ule is required to be imported in

a Pytho,
o T program to uge o :
€ methods ? an, median and

variables in Python ?
(1) global immutable variables require
global keyword inside function.

(2) global mutable variables do not require
P4 key ord inside function.

30

80.

81.

82.

mﬁ%éﬁﬁﬂaﬁ‘lﬁ u‘@ma&@
g3, Observe the follo
| missing statement
(]) 5tat5 im'port matplot
(2) statistics
(3) 5tarldard p]_.shOWU
(4) math 5.0
4.5
4.0
frrfetad e o free F1 &2 35
3.0
import pumpy 25 np 25
A=-np.array([12,23]} ig
B=np.array([10,20]} 10
print (A-B) 00 O
@ -2 -3 (1) pL-P?
) (11223 | (3/;71_55
(10 20]] _ @ pl-P
(4) pl.1l
(3) (10 20]
bz 22! 34. The numt
4) (23] e
Q)/_ De
wmﬁwaﬁmtaﬁﬁﬁmﬁm @) Do
ﬁﬁmmﬂﬁqﬁ%? 3) Ce
1) e T AR % Ay W ()T
310 T (global) T ST €
(@) TeEw HeaE AT ¥ fora dem 85- What i
i3 T (global) FI-TS fard 1 in Mat
% -
3) & o ARTEE  TE STAETHE F @)
T (global) - s ¥ o
mmm%l (4]
GPGT-CSC

B



83. Observe the following graph and find the

84.

missing statement in the Python code.
import matplotlib.pyplot as pl

pl.show ()

5.0
45—
40
35—
3.0
25—
20
15
1.0-

I I I | | I
005100 51520/ 2.5MME.0

(1) pitbar ([5, 2, 3,.11])

(2) dscatter( (5,352,032 1)
(;J/;l.plot([s, 2#35m00)
(4) pl.line([5; 2,.3,:1])

The number of attributes in a relation is called

the of the relation.
{ ]/- Degree

(2) Domain

31

83.

84.

85.

frafafad T &1 TEEE B SR TEYH Hi
¥ fafdn wehe & aa el |
import matplotlib.pyplot as pl

pl.show ()

5.0

4.5 —
4.0 —
3.5~
3.0 -
2.5 —
Z=
15
1.0

| | | | I |
005050 1.055 2 2.0 8 2.5°43.0

(1) pl.bar([5, 2, 3, 1)
(2)
(3)

4)

pl.scatter([5, 2, 3, 1])
pl.plot ([5, 2, 3, 11)
pliline([5, 2, 34 1])

T O (Relation) # Af¢=Igd (Attributes)
=i Hem, fewe =i et g1

(1) feft (Degree)

(2) =¥ (Domain)

(3) wIfeAfadl (Cardinality)

- (4) 29H (Tuples)

Matplotlib  legend() e T 3¢ 1 &7

To add a title to a plot
To add annotations to a plot

To label different lines or markers on a
plot

To label the x and y axes of a plot

(1)
(2)
©)

(4)
Q2




89.

90.

Which command in MySQL is used to list all
(non-temporary) tables h\‘__a‘:?iven database ?

.

DESCRIBE TABLESY )
(2) DISPLAY TABLES(y")
(3) VIEW TABLES F\i
(4 SHOW TABLES (™|

(1)

Which of the following MySQL query is

syntactically correct and most preferred
one ?

(1) SELECT SECTION, COUNT(*) FROM
STUDENT 2

ORDER BY SECTIGN GROUP BY
SECTION WHERE MARKS<33 AND

COUNT(*)>0; 1{)
(2) SELECT SECTION%LODUNT&)- FROM
STUDENT

d
WHERE MARKS%33 HAVING

COUNT(*)>0 GROUP BY SECTION
ORDER BY SECTION;

: @/%LECT SECTION, COUNT(*) FROM
STUDENT

WHERE MARKS<33 GROUP BY
SECTION HAVING COUNT(*)>0

NMCOUNT(¥) FROM

[ION WHERE
COUNT(*)>0

33

90.

89. T feu T eeEE # usft (-smumd) ot =

gHes F F g MysQL # =1 # wnis
WA Y A S 2

1)
)
®)
(4)

DESCRIBE TABLES
DISPLAY TABLES
VIEW TABLES

SHOW TABLES

frmfafes & | *19 T MySQL query

syntactically ¥4 ¥ @&l ? 3R (& waifus
e < S § 2

(1) SELECT SECTION, COUNT(*) FROM
STUDENT

ORDER BY SECTION GROUP BY

SECTION WHERE MARKS<33 AND
COUNT(*>0;

(2) SELECT SECTION, COUNT(*) FROM

STUDENT

WHERE MARKS<33 HAVING

COUNT(*)>0 GROUP BY SECTION
ORDER BY SECTION;

(3) SELECT SECTION, COUNT(*) FROM

STUDENT

WHERE MARKS<33 GROUP BY
SECTION HAVING COUNT(*)>0
ORDER BY SECTION:

(4) SELECT SECTION, COUNT(*) FROM

STUDENT

GROUP BY SECTION WHERE
MARKS<33 AND COUNT(*)>0
ORDER BY SECTION;

Q2




S
v\l;?;ECT NAME FROM STUDENT
ERE NAME LIKE 'A___ '

—

SELECT NAME FROM STUDENT
WHERE NAME = 'A y;

— i

SELECT NAME FROM STUDENT
WHERE NAME = 'A%%%%";

SELECT NAME FROM STUDENT
WHERE NAME LIKE 'A% %% %';

Identify the output value (ignoring the output
header) of the MySQL query.

SELECT 6 MOD 20;
@ 3
e
(3) 20
@ 2

92.

Which of the following will not run the loop
statement an infinite number of times in

Pythen ?
while 21%2:

print ("ALWAYS")
S22 //2:
‘IATIWAYS")

93.

93.

ALWAYS")

34

91.

92.

o)

=

frefataa & @ fFF MysQL

STUDENT ¥ 3’%3’* NAME %‘T /|

foerl arferdad ATe hIFE ¥ a::ﬁq‘t

e e " %
o3

SELECT E FROM gy,

WHERE NAME LIKE'A___ |

—

SELECT NAME FROM STuy
WHERE NAME ='A___ % ,

SELECT NAME FROM STup os
WHERE NAME = 'A%%%%;
SELECT NAME FROM STUp
WHERE NAME LIKE 'A%%%%;

1)
()
()

(4)

MySQL query sEege a7, (IR
A ARG T G F TETH HIfC

SELECT 6 MOD 20!
N
@ 6 Ch
20 - (ad
@ 2 E
frfefag TEeE HS ° S W 0 ®
SAfiTa SR e =T 2
(1) while 21%2:
print ("ALWAYS")
while 21//2:
pri t(}ALWAYS")
)

(@)

while True
prift (PALWAYS")

while 1 %m

- b

3
prirg{z:‘!IALWAYS“ )

I

®)

(4)



94, Which of the following is an invalid method/ | 94, Trem feard & T1H @ =i & Here/Fwm Ay

function in a Python dictionary ? T R?
(1) popitem() (1) popitem()
remove () (2) remove()
(8) get() (B) get(
(4) popl() (4) popl()
95. For the following Python statement 95. frefefiaa ways Rede Hi 3@
Msg=('Good Day') Msg=('Good Day')
What shall be the data type of Msg ? Msgwmzmwm?
(1) tuple ' (1) tuple
(2) list (2) list
(3) Error in statement (€

)  Error in statement
)

\(9/ string _ | (4

string

96. For the following Python statement 96. ffefed e Rede i 34
Txt=list ('PEACE') Txt=list ('PEACE')
What shall be the output of print(Txt) ? print(Txt) %1 SIS 7 T 2
\(l)/['P', 'E'y gAY, 'CY, e (1SS 5N, " Xes¥ct . WEY)
(2) [P, E, A C, E] (2y ", .E,’n, C, E]

(3) Error in statement (3) Error in statement

(4) ['PEACE'] (4) ['PEACE']

97. Select the correct output for the following | 97, fr=fefEd TR e w1 T8t HEYE S|

for I in range(6, 1, -2):
print (end='*$$")

(1) *$s*ss

(2) *$$ *ss *s8

(3) *$s*ss*ss

(4) *$$ *$s

35 e




98. Which
of : ]
Python ? the following options is true in
1 3
( Execution/Runtime errors can be
handled using try. . .except
(2) No errors can be handled using
try...except
(3) Logical errors can be handled using
try...except
(4) Syntax errors can be handled using
try...except
99. Which outof the following oduleis required
tobeusedtocreateabinaryfﬂeinl’)’ﬂ‘m?
(1) bin
(2~ pickle
3) binfile
(4) Binary .

following Python code and
tion given below : .
") as F:

100. Consider the
answer the ques

with open ( "NOTES.TXT", Lr

Line=F.readlines ()

T e ST 4 Statement 1
Which of the following Python statements
will find and display the number of lines

36

98. preferte

99.

100.

i Er
tion/ Runtime -t
@) Execu_ oxcePt Wmm‘h
try-’
4 forel
ery- ‘excep%iﬂw ﬂ;n? ki
) oy At "13;[ '
: £ry. . -€XC
b LB B ¥ b
Fltry---©€
@) SYnf-'ax Err r';,'ﬂ gl .
. e (Binary File) %
E3ca ERAdl %
‘gzzﬂ# ii:@-aﬂ?’?ﬁ ﬂWEﬂ?TFFWﬂ
el e cLekd 7
1) pin
@) pickle
(3) binfile
(4) Binary
erferfiad e F1S T foram Y SR A
g O S
with open ("NOTES . TXT"/ "r") ask:
Line=F.readlines ()
4 Statement.
S T Rede H @ B A @
/NOTES.TXT" & e el i wedl &
e ik 3 g ?
(1) print(len(LINE))
(2) print (LINE.count ()
(3) print (LINE.count('\n'))
(4) print (LINE.len())



101. What is the output of the following ?

102.

import pandas as pd

Sl = pd.Series([100,200,300])

print (S1)
1 1 100

2 200

3 300

dtype: int64
(2 0 100

1 200

2 300

dtype: floated
3 1 100 .

2 200

3 300

dtype: float 64
(M 100

1 200

2 300

dtype: inted4
A dictionary is declared as

D = {10:"A",25:"B",32:"C", 54:"D")

ng is incorrect ?
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101. FrafafEd e &1 SReqe Fan |

import pandas as pd

81 = pd.Series([100,200,300])

print (S1)
(L 100
2 200
3 300
dtype: int64
(2 o 100
1 200
2 300
dtype: floaté4
(5] a8 100
2 200
3 300
dtype: float64
4) o 100
TR 200
2 300
dtype: int64

102. T FERM 36 YR ¥ feqods €

Diz {10AY; 25: 1B, 32; KON 54 A0}
fiefafiad # | 1 T Hwie W@ T €7
(1) D[20]="E"

(2) D[30]+=20

(3) D[32)+="*"

(4) D['X']=100

Q2



103. Which of the followin
for

¢

®)

: g is the correct syntax
anda’s dataframe ? e

pandas.DataFrame (data, index, col,
dtype, cpy)

pandas.DataFrame (data, index, row:
dtype, cpy)
pandas.dataFrame (data,
dtype, cpy)
pandas.DataFrame (data,
dtype, cpy)

index,

indeX,

(4)

104. What will the following code resultin ?
import pandas as pd
pd.Series ([10,20], index=[ 1A', 'B', 'C'1)

(1) ValueError
(2) NameError
3y IndexError
(4) SyntaxError

105. Given the following assignment of a variable
1.5=[1,9,2,8,3,7:5,4]
What will be the output of the following ?

L, 2132
print{LS[::2]+LS[::—2]}
(1)h 15533/ @bl 7: 9y 87 1]
[1; 275 R2y 4, 7, 8, 9]
() 1[4, 7, 8 gr 1,52, 3,5)
@ 19, 8 7/ 4 5 K32 el

106. Which method out of the following is used to
write a line of content in a CSV file in a

Python program ?
(1) writer
_,(ﬁ) writerow

) write

(Dataframe) § '

% i3
103. e (Pand;'s%ﬁqua%aﬂuﬁm? 4 _— R
(data, indey, ]
) parldas.DatB)F”ame o 7 et
cpY
dt,yper : gtd—
ataframe (data, indey, o
[2) pandas.D
dtypes cpy) e
data}?rame i ln%‘
3) pandas.
, cpY) -
dtype taf‘x:ame(data, indey
(4) andas - a
dtyper cpy) 1
§
?
4 ﬁqﬁrﬁﬂﬂahzmqﬂmﬂ 1 & \u.
104.
pd
i rt Pandas as i
lmp: ries([lO,ZO]: index=1 A','B','Cy
pd.Se
1) ValueError =
(2) NameError i :
Error
3) Index o 2 i{
4) SyntaxError ot .

105, 2 T AT sraren fen T € 108. Which of the fo

L5=[1;9:2r8r3'7'5'4] movethemePDi

= MER W frAfafad Hs H IR R aspeciﬁcposiﬁo
1 B ? ptogram?

print(LS[::Zl"'LS[::"z]) (1) move

@) 15, 32 s % 8l il (@) tell

(2) § [177243,85, (4w Ty 8, 91 (3) find

(3) (4, 7, 8 90 1, 2, 3, 5] /{43”329\(

@) 19, 8 7, 4 5: 3+ 2, 1]

' 109. Which outc

106, TF TEYT W H CSV WA | TH WE | tobeused v
wﬁzfc‘f@ﬁ%ﬁqﬁaﬁ!ﬁﬁﬁ%ﬂﬂmﬂm read as we
AT H SR S ? program ?
(1) writer (1) ab
(2) writerow (2) wb
(3) write @) T+
(4) writeline 2 1h

38
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107. Observe the following flowchart and find the | 107, fr=ffad wierE 1 FaeHA w1 o IEHT
output.

<t TS FaT |
@ [ ('START )
‘ {¥)
A=10lT\ (@) A=100
S=UTEEY 5=0
g , i
o {[SUTPUT
A>?-20 N s
YES ‘
s+=A| ( stOP)
e QS == | [A=-%0
A =00
\9/130 &% 160 (1) 180
(2) 120 = Q,ﬂ L& (2) 120
(3) 100 M it 189 (@) 100
4) 160 o) (4) 160
4

108. Which of the folloWing method is used to | 108, T T2 ST & T o TEd (Text File) &
move the file pointéfto read the content from R TS (read) F0 4 vt fret faRi wifses

a specific posiﬁonffh'_textﬁle inside a Python # wEd @R B A §H & g LIRS
program ? 'f"‘\! YT H AT ST 2
(1) move (1) move
(2) tell (2) tell
(3) find . (3) find
,&I‘)/’ seek (4) seek

109. Which out of the following mode is required | 103. T THYA W 8 T S5 W5 (Binary File)
to be used while opening a binary file to allow dre T frefated § | S99 R e s .
read as well as writé operations in a Python 3 52 SR B Th WY T H - fog
program ? Mo TE 2
(1) ab {) (1) ab

‘wb (2) wb

39 Q2




110. Which method out of the following will allow
the read operation from a Binary file in a

Python program ?
(1)
(2
()

(@ load

read
input

accept

111. Which is the Linux ?
Jn/ Open-source Operating System

(2) Open-source Application Software

(3) Windows based Application Software

(4) Proprietary Operating System

112. What is an interpreter ?
ram that converts machine

A prog
vel language

(1)
language to high-le

basecLﬁ%pplicati :
(2} grqfén faew (Proprietary

w

..,\l
112. FEIL (fﬁ%preter) Fne?
Tyt M (machine

1) T IIE Sl
language) # e W (high-level
language) R

A program that converts whole of a

)
e into machine language

program cod
~ in one step

im that writes instructions to

Q’ﬁmﬁhwmaﬁg(program
code) 1 T < A FYIA T (machine
language) ¥ seerl |

©) R o, iy < ), S
WE’Wmmﬁmél

W
(I 5 Fd-freared R TR

40
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r

I

 identify the Boolean Gate, which represents

7 he following truth table : e :? S (:;O:Enuﬂcat?::ﬂm

P miii‘gi? Ea (tru e)
_._% l; 0“"1P“t ' oA B |Output|
o I

v 1 0 1 \

| 1 O Rl EAETE)

L - L ;W O T

[1HRE AOR (1) XOR

(2) NOR (2) NOR

«3)/ NAND (3) NAND

(4 OR (4) OR

114. If @ represents XOR Gate in Boolean algebra | 114. It <& e (Boolean Algebra) ¥ @,
and A ® B = C, then B® C equals to : YOR 71z #! Fref@ s ¢ i A®B = C, A
A — B® c_fw% T ?

a 1 & © o o 1 '

@A o 1\ \ O, @k A

@ A st 0 \ Vil

@4 0 | o (s

115. Identify the Boolean expression from the { 115. feu 7o fomweai # q 9 T(;ﬁ_q S (Boolean
given options, which is equivalent to the Logic expression) F UEHH IS, S wiiwch S
Circuit Diagram. : SEUM (Logic Circuit Diagram) ETR s i

A

B
C

D

(1) (A+B)C+D
2) AB+CD

3) A+B-C'+D
| 4) (AB'+C)D

a1 Q2




 EEEEEE——

116. Which of the f
ollowi ;
e OWing memory is non- | 116. ﬁﬂﬁiﬁaﬁﬂ'i’raﬂ?ﬁﬁ‘ﬁﬂ IR T &2
\LB/I:OM
(2) Cache (1) I (ROM)
3 2) %9 (Cache)
(3) ROM and Cache ‘) o oi 359 (R oM R Cache)
(4) RAM
4 W (RAM)
117. ’ The Boolean expression (A-B)' is equivalent | 117. Wm (Bo olean expression) (A-B)'ﬁﬂra;
to: 2
(1) A“B (1) AB
i 2 A+B
3) AB o AP
' : - ! 'BI
M +B %/ W 2 ] ?‘ (4) A+
° i . mal number)
118. Decimal equivalent of the hexadecimal | 118- HE;L&)WQ TF@T (Hexzﬁga s
number (ADD)IG is : ! ( 16 E:%IHEIEI
AL Do equivalerlt) :
' 1Dl S (1) 2871
(1) 2871 A0 \0 \19) | jo| ) 278
@ 2178 o
(3) /2187 Adnet!le] (3) 2187
/2731 e Y ) 654 321 © l /Q}' @ 2781
| A gy - %
g 4— <o P | i
179, Intellectual Property Rights (IPR) protect thL 1}9}61‘\1?;1 Tﬁﬂl_{:ﬁfﬁ (;PR) 39 I fa?m
use of information and ideas that areof : (3’- _ ISRED
titiigs LA
(1) Traditional value - ?;} _Z11) W o (Traditional value)
@) Historical value 6\ 0 al(z) T RISER (Historical value)
fé" : & ) i 7o (Commercial value)
‘* w@' 3firs 79 (Ethical value)

120, f-sTH W@ (Binary number) (10110); %1
TRTYRl §Aged (Octal equivalent)' e
1) 26 |
2) 52
(3) 62

42

4) 16
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1

qhe decimal representation for the character ‘

121. ASCIH ¥ TR ‘@ A) % fom s
B _ i a’ (lower A)
1 g (lm'\i'oflr A)in ASCllis | =99 (decimal representation) ®:
%f 99 : @) 90
@) 97
@ 122 @) 122
@) 65 @) 65

22. In Boolean algebra, A:(A +B) is logically
equivalent to :

122, Seia SR (Boolean algebra) ® A(A +B)
e =q & e THaed (logically equivalent)

??
@ B @obia 1 B
2 AB | (2 AB
3 A+B _ () A+B
A 4 A
123. Binary equivalent of the decimal number | 123. S¥WEE W&l (Decimal number) (11)10 1
(11)4g is : ‘ \ fg-ana (Binary) SHITHA (equivalent) L
(1) 1101 2 | (1) 1101
(2) 1001 (2) 1001
(3) 1111 2~ @) 1111
41011 S (® 1011
{
124. What is the updated versim\ of tl}e IT Act, | 124. 38 <t aifufFas, 2000 (IT Act, 2000) % FEFEH
2000 galled ? HEHTO T T HE S € 2
IT Act, 2008 Q) I & sAtatwEm, 2008 (IT Act, 2008)
(2) Advanced IT Act, 2000 () Teae R A AfufTEs, 2000 (Advanced
IT Act, 2000)
(3) Advanced IT Act, 2007 (3) TsaEs s & fufEm, 2007 (Advanced
IT Act, 2007) .
(4) IT Act, 2007 (4) o & sfufEm, 2007 (T Act, 2007)
125, t- minimum and maximum values will { 125. f=fafEa @R W | R R AR ATHwaH
tenerated for the following Python } '&ﬂmﬁ\
om.randrange (100) +1)

print (random.randrange (100) +1)

(1) 1 TAW 100
id 100 (2) 0 T 100
' (3) 1 W 99
| (4) 0 T 99

43 Q2



126. Which of the following cannot be used as a

ydenﬁﬁer in Python ?
; 1stName

(2) Namel
(3) Name_l
(4) FirstName

127. Which of the following Function Headers in

\;?rﬂ\on code will result in error ?
def Compu (X=100, Y=10, Z):
(2) def Compu(X, Y/ z=1):

(3) def Compu (X=100, Y=10, z=1) :
(4) z=1):

128. Considering the following dictionary :
100 'Hundred's

def Compu (X, y=10,

Num = {10: "Ten',

10: 'Decimal'}
t of print (Num) ?

V:?lﬂtshaﬂbeﬂle outpu
) {10: rTen', 100: 1gundred',
10: 'Decimal'}
(2) {10: 1Ten', 100: rgundred '}
3) {10:'Decimal', 100:'Hundred'}
(4) Error
129. Identify the teroy, which is an unauthorized
ption or monitoring of

real-time interce
two entities

def Compu

' qef compu (Xr
(X=100;

Y=10r Z=l):

frarR HIC

gundred's

Yf Z:l} H

©)
Y=1Or" Z:j-):

(2)
(3) def ComPY

(4) def compu (Xs

ﬁﬂﬁrﬁﬁawﬂ
Num = {10:'Ter1', 100:
10:'Decimal'}
p:«:irltfl\lurl‘l)E-l

(1) {10: 'Ten',
10: 'Decimal'}
2) (10:'Ten’, 100:

128.

rEege T |

100:'Hundred',

rgundred'}

{10: rpecimal’, 100: rgundred'}

(3)

(4) ' Error

T FT, S T A T
Frater 1 SIS

129. 39 7T (term)
2l

ﬁwfﬁaﬁ%aﬁ#ﬁﬁ
w@ﬂw—aﬂsﬁ@?mnﬁam

private communication between
ovey a network.
Eavesdropping

(2) Phishing

(3) Snooping
(4) Cyberstalking

for used in Python

1) Ty (Eavesdropping)
(2) T (Phishing)
(3) ¥ (Snooping)
(4) WEETRIET (Cyberstalking)

130, Frefafan § § T (Pymon)ﬁngaaaﬁfm'a
SR i TEE Hifg |

(1) and
(2) in
¢ <=
@ +=

Q2



